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Abstract 

Value-at-Risk (VaR) has been adopted as the cornerstone and common language of 

risk management by virtually all major financial institutions and regulators. However, 

this risk measure has failed to warn the market participants during the financial crisis. 

In this paper, we show this failure may come from the methodology that we use to 

calculate VaR and not necessarily for VaR measure itself. we compare two different 

methods for VaR calculation, 1. by assuming the normal distribution of portfolio 

return, 2. by using a bootstrap method in a nonparametric framework. The Empirical 

exercise is implemented on CAC40 index, and the results show us that the first method 

will underestimate the market risk - the failure of VaR measure occurs. Yet, the second 

method overcomes the shortcomings of the first method and provides results that pass 

the tests of VaR evaluation. 
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2.1.1 Historical  simulation 
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2.1.3 Monte Carlo simulation 
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2.1.4 Quantile regression method 

-�� ���	� �
���� � �
� ���	�� ���	��
�� ����� ��
� ���������� �
����	� ���
� ��
� ����������
�
������	���� ����� �� 	
�� ��� 	���
� �������
���

�t = ��+ 
�t­1 + �t	�

�
� ��
�� �
���
� ��
� ���������
� ��	���������� ��������� '���*� ��� �t ��� 
rt (�t) � ����
��	� ���
�	
� ���� ���
�­1(�) ���� �
��
����
�����-�� ������	� ����� ��
� ���
�	
� ���� ��� �t�	�

 


�­1 ˆ 
 

��
�
���̂q  ���� 
̂  

rt  (�|�t­1) = �̂q + 
q �t­1	� '"*�

��
� ��
� ��
�����
��	� ���� /������
� �
��
		���� ����� ���∈ (0	�1)��

rt (�|�t­1) �	�����
����
�������������/������
�����������;������
��
������������
���� � �
� �������

����q =  inf 
V aRq  

{��(�t ≤ ����t|�t­1) ≥ �} = 
rt  
(�|�t­1)��



2 Value-at-Risk 5 
 

rt ­  

 

��
�� ������������� /������
�� ����������
�­1(�|�t 1) �	����
������q ����������������

�t­1��
%� ��		���
� 	
�� ��� 	���
� �������
� �	� �
�����
�� ��� %������ ���� @����
��
�
��

'"#��*��� -�� %@�� � ��
�� ���
� �����	
�� &� 	���
� �������
	� ��� 
	�����
� ���
���������
����t������	
� ��
!�

�* 2-C � ������ ������
	� ��
� �����
�� ����������� ��� ��
� 	���
� ���

���

��* %�	������
�����/�������	��
�� ��
���
���	���
�����
�
��
��
��

����
����

�

������ �
��� ���
� ���� ��
� ���

������� ����� ���
 � � ������ � �
�	��
	� � 	������ �
���

��/������� ��	
�� ��
� ���

������� �
�
���� ������
���� �
��� ���
� �	� ��������
� ���

@�����
�� ����� ��
�����

����������
�	��������
� �	��������
�������� ��
��;
�
����

1
	
��
� @��
� ��� 5
�� D��
��

���* ��
� �����
� ��� ��
� ���

������� ��
�	���� ����� ���
� ����� ��
� ;
�
���� 1
��

	
��
� @����	� ���<��@�� �	���� ��
� �����
� ��� ��
� ���

������� ��
�	���� ����� ���
 �

���� ��
� �
�
� � 	���
� ��
� �����
� �	� ��	�� 	����������� ��� 
,��������� ��
� ����	� ��� ����

�������� 	
����� ���

������
�� �		
�� �
����	��

��* ��
� �����
� ��� ��
� 	���
���� ��
� ��
��� ����
 ��
�	��
����� ��
� ��
��� 	��
���

�
��

�� ��
� �
���
��� ��
�	���� ���
� ���� ��
� ���

������� ����� ���
� ������
�� �����

��
� ;
�
���� 1
	
��
� @����	� ���<� �
�
�	
��

�* ��
� �����
� ��� ��
� ��
���� 	��
��� �
��

�� @%%����
�� ����	� ���� ��
� ��
���

	�������
�'�������
�	��
��������������
���
��	*��������
�;
�
����1
	
��
�@����	�

���<� �
�
�	
��

5��
� ����� ��*� ���� �*� ��
� ���� ��,
�������
� ������	� ����� ������
� ��
� ���
�
���������� ��� ��
� ����	� ��� �		
�� �
����	��

��
�� ��������
� ���� �������
	� ��� �������� ���� ��
� ���������� 
/����� ���

�� �
��

����	!�

��* ��
��


���
/��������

���
������

���* ��
� ��
��
��� ���������
� �
��� 
	���
� 	
����� �
����� �	� ��
� ����
� �
����
��

��
���
� ��� �
��� 
	���
� �������
	� '(-)� ���
�E<�EE*� �����)1(6��

��
	
� 	���
� �������
	� ��
� �
��� 	�
����
�� ��� ������
� ���
� ���������� ��� �������

������� ���
��	� ��� �		
�� �
����	 � ���� ��
� ��/���� ���� 
�	���� ����
��� ���
�
� � ��

���� 	���������������	���� ��
	
��������
	� �	� ����� �����

	� ��
� �
	���	� �
		� ����	���

-�����
 �����
���������
�
�
���
��������
��������������
�����
��������
	���	�����/������
�

�
��
		��� � ��
�
���
� ��
� �
	���	� ��� �
�	��
�����
������
 � ��� ����������

���� ����
� 	���
� �������
	� ��� ���
� ��­ 1 ���
� �����
� ��
������
� ���
�����-�� �
� �	
�

�t  �	� 
,���������� �������
 � ��
� ���� ��������
� ��
� 
����
�
���� �����
�� ��� ��
�
�
��
		��� � 	���
��(�t� t) /= 0 � �
��
� ��
� 
	�����
����
�����
��	������ �
����	
���



2 Value-at-Risk 6 
 

t  1 

 

 

2.1.5 Conditional Value-at-Risk with normal assumption 

���	��
������	�	������������
������
������
���� � ��
����������������	����
	�����
�
��
� 	�������� �
�������� ��� �
����	��-�� �����
����� ���
� � ��
� 	�������� �
��������
�	� ��������
�� ����� ��
� ����
� 	����
F����
�
� � ��� ��
� ������������ 2�1� ���
� �
��
� 	�������� �
�������� �	� ������
�� ����� �� 4%1)�� ����
		� ������ ������
	� �	�
��
� ������������ ����������� ��� ���������� �
������

G
� �

�� ��� ������
� ���������� �
����	$� ������������ ����������� �t ��� ���	�� ����
��

��� ��� 	� � ��� ���
� ������ ��� 4%1)�� 	�
����������	 � �4%1)�� �	� ���

�� ��� ���
��
����������� ���������
�	������
����
�
���
�
��
��� ���������	� ��
��������������
�����
�
�
����� ����
�	
	��������
�������
� ���������	����
��
�������� ��
�	��
���������
��
G
� ��	�� ��� �� ������	�	� ��� ���	� 4%1)�� ���
�� ��� 	���� ����� ��
� ���
�� �	� �
���
	�
����
�� ��� ��
� %��
���,����
� 
��������� ��� ��
� ������������ �������
� �������	�
��� ���	����
�� �	����
����!�

 

�t =  �t�t	�
�2 2 2 ­ 2 

������­ ­ t = �G + �G�t­1 + �G�t­1�t­1 + 
G�t­1	�

= �t ≤ 0�����
����
�� �	�
	�����
�����H��	���7+��������������

	�

��
� ���	�	�
���� ��� ��
� 
	����������G
� ���
!�√
��(�̂M LE ­ �o) ∼ ��(0	���­1�0��

­1)	�
0 0 

2 

�����
�̂  =  1      �t(�̂)�t (�̂) ������̂  =  1  �	���������
���
		���������������������I ∂     logL 

T T ∂θ∂I θ 

��

�������������������� G�
�
�����= (�G	��G	�
G)���� ��
�
���
����
���������	���
���
��
�������
���/������
���������������	��������� �

����t = �tΦ­1(�)	�

��
�
� Φ­1(·) �	� ��
� ���
�	
� ������� )B;��

%	� �
� ����� 	

� ���
�� �� � ��
� ������� ��	���������� �		�������� �	� ����������
�
����������
�������
���������������������

��� -��������
��
����
 ����	��		��������
����� �
� ������
�� ���� ��� ��
������ �	� ��������
�� ��	
�� ��� ������� ��	��������� � ��
�
���������� ��	
� �	� ��������� ������ ��� �
� ���
�
	�����
���

 
2.1.6 Bootstrap  method 

-�	�
�������	��������	������������	
����������������������
����� ��
�
 ��
����	
��
��
� ��	���������� �		�������� ���� �	
� ���������
����� ����	����� �
���������� ���
�
�
����
� ���������� ������ ��
� ��������
����� ����	����� �����	� �	� ��� 
	�����
�
��
� 	����������	������������� �� 	����	���� 
������������������� ��
���� �		�������	�
������ ��
� ����� ��� ���������� � ���� �������� �
������� ��
� 	�������� ��	����������

,������������
� 

�� ����	����� ����
��� �	� ����� ��
� ����������� �	� ��� ��
� 	����
��	�
��
�	����
��	������
�����	�����	����
�� ��
� ��
�����

����
�����	����� �
����/�
�
��� ��
� ���������������

;��� �� ���
�� 	
��
	� ��� �
����	� {�1	����	��T } � ���	��
�� �� �4%1)�� ���
�� �	� ���
��
���
����	���	
 ����	
������
�
�	����
��

��
	�����
�����H��	���7+����
��



3 Evaluation of VaR 7 
 

T 

t 

t 

 
 

�
��������������
�	��������0
���
	�����	 ��̂t = rt  ���
�
� �̂2 = �̂G + �̂G�2 + 
σ̂ t t t­1 

�̂G�2
 �­   + 
̂  �2

  � ���� �̂2 �	� ����������������
������
�	����
��

t­1 t­1 G   t­1  1 

�������
�
�����
�����	������
��������� � ��� �	��
�
		������������������	�����
�
������
	��∗  = {�∗	����	��∗ } �������������
�	�������
�������������	
��
	����	�0
�����

T 1 T 
�∗ 

T  ��
�������
�� ����� ���������� �
���	����'6�	���� �5�
�� �����1��0� '"##E**�

�̂∗2 ∗ 2 ∗ 2 ∗ ­ ˆ ∗2 

t =  �̂G + �̂G�t­1 + �̂G�t­1�t­1 + 
G�̂t­1	�
t =   �t �̂t 	� ������= 1	����	��	�
�∗ ∗  ∗ 

��
�
� �̂∗2 = �̂2 �����∗ ��
������������	�������
����
�
��� �������
�
���������
1 1 t 

��	���������� ��� 	��������0
�� �
	�����	� �̂t�2    ���	� ����	����� �
����� ����������
�
���
���������������
���������	��������������������������
���������
���������

���	
����
����
	�����
�����������4��
�����
������	������	
��
	���∗  ���
���������������
	�����
��
����	����������
�
�	 �{�̂b 	��̂b 	��̂ b 	�
̂b } � ��
�����	����������	������������
	� ��
�

G G G G 

������
������������������
���	���	�

�̂b∗2 
 

b b    2 b   2 ­ ˆb    b∗2 

t =  �̂G + �̂G�t­1 + �̂G�t­1�t­1 + 
G�̂t­1	�
�̂b∗ ∗   b∗ 
t =   �t �̂t    ������= 1	����	��	�

��
�
� �̂b∗ �	� ��
� ��������� �������
� ��� ��
� ����	����� 	����
��b∗ � ���
� ����� ��
�
1 T 

��	�������� ����
	� �	� ��	
�� ��
� ��������� 	
��
	� ��� �
����� ���� ��� ��
� ����	�����
�����
�
�	��� �
� �
�
��� ��
� ����
� ����
���
� @� ���
	 � ���� 
	�����
�� �-��∗

t(�) �	�
�th����
�� ��� 	
��
	� �̂b∗ � ������= 1	����	�� ���
�
���= ��× ���

 
3    Evaluation of VaR 

3�
�� ��
� ��	�� ���� �
���
	 � ���
	� ���
� ����
�	
�� ��
��� /����������
� ���
�	� ���
�����
� ��
��� ���

�� ��	
� 
,��	��
� ���� �� 	����������� ����
�	
� ��� �������� ����������
%	� ��
� ��	�� ������� ��� �������� �������� � ���������� �
�������	� ���
� ��	�� �
���� ���
����	���
������
�����������
��	
����	�������
�	�����
�����
����	��������	�� ��
�
��
���
 � ��
� 2���
����1�	
� ��	� �

�� �	
�� ��� �
�
����
� ���
	$� �
��������� ��������
�
/���
�
��	� ���� ���������� ���

�� 
,��	��
� ��� @�	
�� %������ 	���
� �AAE�� 4��
��
��
� ���������
� ��� 2�1� 
	�����
	� ��� ���
	� ���� ��� ��
� �
�������	 � 
���������� ��
�
������������ ��
����
�����
������� ��
�� �	� ���
�
		����
,
���	
��

��� ��������
� ��
� 
���������� ��� ��������� ��� 2�1 � 	����	
� ����� �
� ��	
��
� ��
���
�	
��
	������	��
,����
�2�1����
��	�	�������	��
,���	���
����	 ��
������
���
�
��
� ��-�� ��������� '	
/�
��
*�� ��� 2�1� ���������	� �	�

(
1	�������t ������

q
 

�t = t ��

0 ����t ≥ ����q
 

 

-�� ��
� ���
�� �	� ����
����� 	�
����
� ���t  	������ �
� �� @
�������'�*� ���� ���
�
���
�
��� ��
������� ��	������
�� '������*��� -�� ���	� 	��	
����� � �
� ����	� ��� ���� �
	�	!���*�2It is necessary to sample with replacement, because one would otherwise simply reproduce 

the original sample. 



3 Evaluation of VaR 8 
 

t=1 

T 

��

�� ��

 

 

��
�������������������	����������������t  �	��@
�������'�*F��"*����
���t  ��
���������������
@
�������'�*��
������ ����!� ��
� �������������� ��� �t �	� @
�������'�*�� 2�1� ���
��	�� 
����������

���� �
� ����
�
��
�� ��� ����� �-�� ��� ���
� � � �t � �	� �� @
�������� ������� �������
 �
���� �� ���
����� �
	�� ���� �
� ���	�����
�� �	���� �� ��

������� ������ �
	���I��
�� ��
�
�������������
�� �	� ����
����� 	�
����
� � ��
� ��

��������������	
/�
��
� �	�

 

�(�1	�������	��T )   =   ΠT
 (1 ­ �)1­Ht �Ht

 

=  (1 ­ �)T ­), 
Ht �

), 
Ht

 

=   (1 ­ �)T0 �T1 	�

��
�
��0 �����1 ��
���
�����
�	���� 0
��	�������
	������
�	����
�� ��
��������
��������� �7+� 
	�������� ��� ����	� �̂ = T1 ������
� ������

������� ������ �
	�� �	� ���
��
���

��uc  = 2[log(�(�̂)) ­ log(�(�))] ∼  2(1)	�

���
�� ��
������ '�0 : ��= �*��
��	
��� ����!��t ��
� ������� ���� @
�������'�*�� ��
� ��

������� ��	
�� �
	�� ����

��������������������
���2�1� ���� �
� 
,�
��
����� ������������������
���2�1� ���

,�������� ��
� 	
/�
������ �
�
��
��
� ��� �-�	��G
� �

�� ��� �
���
� ����� ���
� ���
	
����� ����
������� �
� ����� ��� �
	�� �����	���%� 	����
� ���
������
� �	� �� �����
��
���	� ���
��� �������%� 	����
� ���	�� ���
�� ������� ����
�� ���
��� ������ ������
	�
@
�������� ������� �������
	� ������ ��
� ���� �
�
		������ ���
�
��
���� -�� �	� ������
���
��0
�� ��� �� ����	������ �����,� ��������������	� ��
� ������������ ��������
� 	���
�
	���	� ��
� 	��
�����
� ����	������ �����,� �	� ���
�� ���

1 
�00 �01 

l
 

1 
�00 1 ­ �00 

l 

	
�

Ω = 
10 �11 

= 
1 ­ �11 �11 

��
�
� ��[�t = 1|�t­1 = 1] = �11 � ��[�t = 1|�t­1 = 0] = �01�� -�� �� ����
���

	�
����
�����
� ���
�������������������-�������
�����
����
�����	�����������
��
�
��������
��
�� ��
���
����	��
�������	����-�����������-�����
������	 ���
�

�-�� 	
/�
��
 � {�t} �	� ������ � ���� 	�� ����� �00  = 1 ­ �� ���� �11  = �� ��
�� ��
�
���
�� �	� �������������� ����
��������
� ��

������� ��� ���
��� ������ '��������� ��
�
����������������	������������� ��
� ���	�� ��	
�������*� �	�

�(Ω) = (1 ­ �01)T01 �T01 (1 ­ �11)T10 �T11 	�
01 11 

 

��
�
��ij  �	� ��
� ����
�� ��� ��	
�������	� ����� �� !� ���������� ��� "��� ��
� �7+�

	������������01 �����11 ��
�

  �01     �11   

�̂01 = 
00 

 

I��
�����
�
��
��
 ���
���	�

+ �01 
	� �̂11 = 

11 

��
+ �10 

 

�01 = �11 = �	�



4 Empirical analysis with CAC 40 9 
 

 

 

����
 

 

Ω0 = 

1 
1 ­ �� ���

l 

	
�

1 ­ �� ��

����
� ��
� �7+������ �	� ������ �̂ = �1#������
��
 � ��
� 7�

������� ������ �
	�� ��� ��
�
���
�
��
��
��		���������	����
�����

��ind = 2[log(�(Ω̂ )) ­ log(�(Ω̂ 
0))] ∼  2(1)	�

I��
�� ��
����� ���
�
�

Ω̂ = 

1 
1 ­ �̂01 

1 ­ �̂11 

�̂01 

�̂11 

l 

����Ω̂ 
0 

1 
1 ­ �̂ 

= 
1 ­ �̂ 

�̂ 
l
 

�̂ 
�
�

���
�
� � ��
� ��������� ��� �
	�� ���
�
��
��
�����@
�������(�) '������������ �����


���
� �
	�* � ��
����01 = �11 = ������
� �
	�� �	�

��cc = 2[log(�(Ω̂ )) ­ log(�(�))] = ��uc + ��ind ∼  2(2)��

4 Empirical analysis with CAC 40 

-�����	�	
�������
����������
�
�����������
�
����
����	������������
�2�1����)%)�
9# � ��
�� ��
� ������������ 2�1� ����� ������� �		�������� ���� @���	����� 2�1�� ��
�
�����	
� ��� �	���� ��
	
� ���� �
����	� �	� ��� ���
� �� ���
��� ���� ��
��� 
,����
� ���

,������ ���� �
� 	������ ���	��
�� 2�1� ������������ ��� �� �������
��� ����
���
������
����������
� ����� 
�
��	� ��� ��
� ���������� ���

�����
� �
�	��� ��� ���	
� )%)� 9#�
���
,� �	� ����� ��� �	� ���	��
�
�� �	� ��
� ��	�� ���
�	���
�� ���������� ��� ;�
���� 	���
�
���

� � ��
�
���
� ��� ��

� �	
���� ���� ���� 2�1� ������������ ���� 
����������� ��
�
���
� ����0��� �	� ����� �� :������� "##"� ��� �#� 3����
�� "#�8� ����� ������ ����� �����
������������
	�����	��
		�����
��	�	����������
����	����������;����
������
�	������
�
���	�	�	����
�� ���������"##& �	���
���
� �)%)9#��
��
�	
��� ��
����	�	� ��	� �

��
�������
�������
����
����������7
�����@����
�����(
��
��
��"##J ���
��)%)9#�
�����
�� ��� ��	� ���
	�� �
�
�� ��� 
����� "##A��%��
�� ��
� ������������ ��� (��
���	����
)�������%		
		�
���6�������'()%6*��������"##A �)%)9#��
	���
�������� ��
� ���	��
���	
����(��
�
�������	�	��-����	� ������
�������
�	
��������	
���� (��
�
�������	�	�
��� ��
�(���
����� "#�������
�	
�������������;����
� �� �	� ��
�7���

�
��������)%)9# �����	��
���
���	��t = log �t ­ log �t­1�� ��
���������
�����	���	�
������� �5������ 6
������ �����
����� "##9� ��� ��
�
���"##<������
�
� � ��
�����
�
	����
� �
����� �
����	� 	
�
���� ������
��
� �
����	 � 
	�
������� ���
�� ��
� 	������
�
���	�	�� ��
�
���
 � ��� 	������ �		������ ��
� �
����	� ������� �� ������� ��	����������
������ �
� ������������
� ���� �����
�� ���
����� ����
		�� %	� 	���
�� ��� ;����
� " �
��
� HH������ ��� ��
� ����
� 	����
� ��
	� �
����� �� ���� ����� ��	���������� ����
�� �����
������� ��	����������� @���� 3�
�	����
� K����������(������� �
	�� ���� (��������
G��
������������
	��	�����������
������������		��������������
��������
����������
�
	����
��
������



4 Empirical analysis with CAC 40 10 
 

 

 

5������6
����� G���
� (����
�
B�(����	���	� 6�2���
� G�(����	���	� 6�2���
�

K(��
	�� #�#899� #�EJ9&� #�#J#<� L�"�"
��E�

(G� �
	�� #�AA<� #��&EJ� #�A88E� L�"�"
��E�
 

Tab. 1:  5��������� �
	��
 
 

 

 
Fig. 1: )%)� 9#� -��
,�

 

 
��
�	
�������������;����
����	���
�7����
��������)%)9# ������
������	��
���
��

�	��t = log �t ­ log �t­1�� ��
���������
�����	���	���������5������6
������ �����


����� "##9� ��� ��
� 
��� "##<�����
�
� � ��
� ����
� 	����
� �
����� �
����	� 	
�
����
������
��
� �
����	 � 
	�
������� ���
�� ��
� 	������
� ���	�	����
�
���
 � ��� 	������
�		������ ��
� �
����	� ������� �� ������� ��	���������� ������ �
� ������������
� ����
�����
�� ���
����� ����
		�� %	� 	���
�� ����;����
� " ���
��HH������ ��� ��
������
�
	����
� ��
	� �
����� �� ���� ����� ��	���������� ����
�� ����� ������� ��	�����������@����
3�
�	����
�K����������(��������
	������(�������G��
������������
	���	���������
��
����������� �		������������� �
�������
�� �������
� 	����
��
����� �	� 	���
�� ���
����
� ���

 
4.1 Evaluation of VaR for CAC40 

4.1.1 Results for TGARCH model 

-�� ���	� 	
����� � �
� ����� ������
� ��
� 
��������� �
	���	� ��� 2�1� ���� )%)9#��@
���
�
	������� ��
� �
	���	� ��� 2�1 � �
� ��
	
��� ��
� �
	���	� ��� ������������ ������������5��
����
������������������������������2�1���������������		�������� ����@���	�����2�1 �
�
��

�����������
��4%1)������
		�������	������
�����
�
����
���
���������������
����������� ��� )%)9#� �
������ -�� ���	� �4%1)�� ���
� � �G �
�	��
	� ��
� 
,�
��� ���

�������������������	���
� ������ �

�	��������� ������
,���
����$	����������



4 Empirical analysis with CAC 40 11 
 

 

 

 
 

Fig. 2: HH������
 

 �G �G 
G 

+	�������� #��#8� #�#A�� #�J#��

(����+����� #�""9� #��A�� #�����

��	���� #�9E#� #�9&E� &�"�<�

6�����
� #�E9<� #�E88� #�###�
 

Tab. 2:  �4%1)�� 
	��������� �
	���	�
 

 

��� ��G �
�	��
	���
�
,�
������������������������������	���
����������

�	���������� �����
�
,���
����$	�������������������������������$	��
������	��
�����
��'�
�
���
� 
��
��*�����

G �
�	��
	� ��
��
�	�	�
���������������������
�
	����������
	���	���
� ��
	
��
�� ���
����
�"��G
�������
���
��������	�����������������������
�8��B��������
�������
���� �
����������� 	���
�� ��� �� ���� �
�
� � ���
�
� ��� ��	� 	������� ����
�	
�� 	���
� ��
�
�
������������������������	�	��

G
���	��������
���������	�	��������
���4%1)������
���������

������������������
�
���
�� ��	
� ��� 	

� ��
��
�� ���	� ���
�� �	� �
��� 	�
����
�� ���� ����� ��� 	����
� ����
���� ��� 	����
� ��
�
�� ��
� ��.
����
� ��� �������
� ���
����� �	� ��� ���	������ ��
�������
� �
�	��
 �������� ��	� ��
� ����
���������� 	��������0
�� 	/���
����
����	 �
�2 2 

t #�̂t  ���
����	�	�
��������������
���������G
�����	

� ����� �����
�9� ����� ��
�
	��������0
�� 	/���
�� �
����	� ���
� ��� ��������
������� �	� ��
� 	���
	� ��� ����
�
���
���	���
����������
���	��������
��������
	 ����
�
����
�	/���
����
����	�����
�	������
��������
�������� ���
�� �	��
���	�
����
�� ����
��	���� ���	����
���
�
��

3��� ��� 	����
� ��
�
� �	� ���
� ��� �	���� �� 	����
� �
��
		���� ��
�
� 	/���
��

�
����	������
����
��	���
���� ��+1 ��	��
��
		
�������
����
��	���������
��������
�
���
� ��	� ���

�2  2 

t+1 = �0 + �1�̂t+1|t + $t+1��

-�� ���	��
��
		��� � ��
� 	/���
�� �
����� �	� �	
���	������,�� ���� ��
� ���
�����������



4 Empirical analysis with CAC 40 12 
 

 
 
 
 
 
 

 

 
Fig. 3:  )����������� 2����������

 

 
 
 
 
 
 
 

 
 

Fig. 4: B�����	���� ��� �4%1)�� ���
�� '-�� 	����
� ��
�
*�



4 Empirical analysis with CAC 40 13 
 

 

 

)�
�����
��	� +	�����
� (���+����� ��(���� 6�����
�

�0 "�9A<
�#<� ��8A&
�#<� ��&JE� #�#&9����
�1 A�<J9
�#�� 8�<8�
�#"� "&��9<� L"
��E� MMM�

   ;�(���� &8E�J�

   %�.�1² #��AE"�
 

Tab. 3:  B�����	���� ��� �4%1)�� ���
�� '3��� ��� 	����
� ��
�
*�

 

 ���� �H� �
����� �
��� 8H� ��,�

)�����������2�1� �#��EE� �#�#8&� �#�#"&� �#�#8"� �#�#"�� �#�#�E�
@����2�1�'�###*� �#��EE� �#�#8A� �#�#8#� �#�#8<� �#�#"<� �#�#�&�

 

Tab. 4: 1
	�������2�1�
 

 

	
��
���������
� ����
����� ��+ 1��G�����

�	� ����
����
� �	� ��� �
	���0 = 0 ����
�1 = 1����
��
	���	�	�����	�0 �	�����	����	��������	����������������1 �	��
������	
�
���� ������������
�����
���.�	�
��1² 
/���	����#��A�� ��
�
���
 ��
������������
�
����������������
����
���	��
���	�
����
���

 
4.1.2 Results for VaR 

����
� <� 	���	� �	� ��
� �
	���	� ���� ���� ����
�
��� �
����	� ��� 2�1� ����������������
�
�
��� ��� )����������� 2�1� �	� �8�"? � ������ �	� ���
�� '��� ��	����
� ����
*� ����� ��
�
�
��� ��� @���� 2�1 � �8�<?�������
��
� ������ 
���� /������
 � ��
� 2�1� ��� ����	�����
�
�������	�����
�����������
��2�1�������������������4%1)����
�������	���
�����	������
������������
�������,���������
������	��	��
���	
���
�����	������
����������
��
	�$���		��
�������	�����������		�����������)%)�9#��
���� ���
�
���
������
	�
���	��
�� ����
�� ����� 
�
��	� ����� ������������ 4%1)�� �
���������
� �������	� ���
2�1� �	� ��
	
��
�� ��� ;����
� <������
� ��

�� ���
� �
��
	
��	� ��
� 2�1� ��� 4%1)��
����� ������� �		�������� �
����� ���� �
�� ���
� �
��
	
��	� ��
� 2�1� ��� @���	�����
�
������ -���
�
��� ���

�����
�
,�����	������
�����

����	
���������
����
 �������
�	�������
��������
�<�� ��
�
���
 ����������
��	
���������
�
���
��������������������
��
���
������
� ��
�2�1��
	���	� ����
�
����
�������	���
���������2�1��������������

-�� ���
� ����� 	
������ 8 ��;����
<� 	���	� ��
� �
	���	� ��� 
���������� ��� 2�1� ����
)%)9#���;��� �4%1)�� 2�1� �
���� � ����� ���	�� �
	�� ���� 	
����� �
	�� ��		
�� ��
�

��������� ����
� E�E8<� ���� A�"�� �
	�
����
�� 3   ������ �
��	� ����� ��
� ���� ���������
�
�
���
�� ��� �4%1)�� 2�1� �
����� ��
	� ���� ������� ��
� @
�������� 'AA?*������	�
�	� �
���	
 � ��� �		������ ��
� ������� ��	���������� ��� )%)9#� �
���� � ��
� ������
���
�
	�����
� ��
� ����� ��	
� ������� ��
� ���	�	� '������
��
*� �
���� � ��
�
���
� ��
�
���� �������������� �
�������
�����
� ��
/�
����� ����������������
�
� � ��
�@���	�����
2�1���
��������
	�����
�����	��������	
�������
	�	���
�������
����������������
	�����%	�
�
�����
�������
�����	���
�������	�������������
�������
���� ����
�
���
��������
	�
������		��
���������	����������������
������)%)9#$	���
�����������������������������
�
��
� �
����� ���
�
��� ��� ����� ����� ���� ������
��
� �
������� ��
� ������
��
��
�

 3The confidence level is 99%. 



5  Conclusion 14 
 

 

 

 
 

Fig. 5: ���
���������2�1�
 

 �4%1)�� 2�1� @���	�����2�1�

;��	�� �
	�� "E�#�&� <�E�A�

(
����� �
	�� "J�E9"� <�J#<�
 

Tab. 5: +�����������
	���	����2�1�����)%)9#�
5��
	!� ��
� ����
�	� ��� ���	� ����
� �
�
�� ��� ��
� �
	���	� ��� 7�

������� 1����� �
	��
���� ��
� ������
��
� �
�
�� ��� ���	� ���
�� �	� AA?����
� ��������� �
�
�� ���� ��
� ���	�� �
	��
�	�E�E8<�����������
� 	
������
	��A�"��� G
����� ��
�����	����� ���� �###����
	��

 
 

���� ���	� �
����� �	� ��
� �������������� ����
� � �	������ ��� ��

	� ���
� ���
� �����
��
����	� �
������;�������
�� � �
� ���
� 	����� ��� ���	� ���
� � ����	����� ���� �###�
���
	� �	� 
������ ���� )%)9#� 2�1� �������������

 
5 Conclusion 

B���
�
��� �
����	� �	
�� ��� ��������
� 2�1� ����� ������ 	����������� ����
�
��� �
	���	�
�	� 	���
�� ��� ��
� ����� ����� ��� ��
� ���
������	� ���
	� ��
� ��	����	� ��� ��
� ��	
�
�����
�	��������
�����

�������������	 ��
�	�������
�����
������ ��� ����
�
����
���� ��
� �
����	� ��� ��������
� 2�1�� -�� �������� ����� ������ �
� ���
�
	����� ��� 	

�
���
�	� ��	
��
�	��
	� ����� �������
��
� ���
� � 	�����	� 	��
		
��2�1�����
,�
��
��
	�������� � ���� �����
�	� ��
� ����� ���� ��
� �����
� �
	
������



REFERENCES 15 
 

 

 

References 

Acharya, V., and M. Richardson '"##A*!� �1
	�������;���������(�	�
�!� ����
����
�������;���
��(�	�
� ��John Wiley and sons��

Adrian, T., and M. Brunnermeirer '"#��*!� �)�2�1 �� Fedral reserve of 

NewYork Working paper��

Adrian, T., and H. Shin '"#��*!� �7�/�����������7
�
���
 �� Journal of Finan- 

cial Intermediation ��A �9�JN98&��

Artzner, P., F. Delbaen, J. Eber, and D. Heath '�AA&*!������
���� ����
�
�
���� ��Risk ��# �EJN&���

Brunnermeier, M., and L. Pedersen '"##A*!� ����

����/������� ���� ��������
��/������ ��Review of Financial Studies �""��

Christofferson, P., and S. GonCalves '"##<*!� �+	�����������	
��������������
��	
������
�
�� ��Journal of Risk �& ��N"J��

Cont, R., R. Deguest, and G. Scandolo '"#�#*!� �1���	��
		� ���� 	
���
	�������������	�	������	
��
�	��
�
�������
���
	 �� Quantitative finance � �# �
<A8NE#E��

Engle, R. '"##"*!� �B������� ������������ ����
������!� %� 	����
� ���		� ��� �����
��������
� �
�
����0
�� �����
��
		��
� ������������ �
�
��	

��	������� ���
�	 ��
Journal of Buisiness and Economic Statistics �"# �"8EN"9A��

Gourieroux, C., and A. Monfort '"#��*!� �%����������(�	�
����������I���
	�	�
������1�	
	������1
���������6
�	�
����
 ��CREST Working paper��

Jorion, P. '"##E*!��2���
����1�	
 ��McGraw-Hill, 3rd edn��

Kashyap, A., and J. Stein '"##9*!� �)�������� -����������	� ��� ��
� @�	
�� --�
)�������(�������	 ��Federal Reserve Bank of Chicago Economic Perspectives �
"#��

Lehar, A. '"##<*!� ��
�	������	�	�
������	
!� %���	
������
�
����������� ��
Journal of Banking and Finance �"A �"<&&N"E#8��

Nieto, M., and E. Ruiz '"##A*!���
�	������ ���������� ��	
!�)������	��� ���
���
������
�����
���
	����
	�����
	�2�1�����+( ��Universidad Carlos III de 

Madirid Working paper��

'"#�#*!��@���	�������
�����������
����	�����2%1�����+(������
�����
,��
���4%1)�����
�	 �� Universidad Carlos III de Madirid Working paper��

Pascual, L., M. Nieto, and E. Ruiz '"##E*!��@���	����� ��
�������� ���� �
��
����	���������������
	����4%1)�����
�	 ��Computational Statistics and Data 
Analysis �<# �""A8N"8�"��



REFERENCES 16 
 

 

 

Ruiz, E., and L. Pascual '"##"*!� �@���	������������������
�	
��
	 ��Journal 

of Ecomonic survey ��E �"&�N8##��


